Module 1: Laplace Transform
Module 2 : Inverse Laplace Transform

1) If f(t) = sin(at + b), its Laplace transform is given by

[image: engineering-mathematics-questions-answers-existence-laplace-transforms-some-elementary-function-q14]
2) Find the Laplace transform of et Sin(t).

[image: https://www.sanfoundry.com/wp-content/uploads/2017/07/engineering-mathematics-questions-answers-laplace-transform-3-q5.png]
3) Find the Laplace transform of   t5⁄2

[image: https://www.sanfoundry.com/wp-content/uploads/2017/07/engineering-mathematics-questions-answers-laplace-transform-3-q7.png]

4) Find the Laplace transform of   y (t) = et. t. Sin (t ) Cos( t )
[image: https://www.sanfoundry.com/wp-content/uploads/2017/07/engineering-mathematics-questions-answers-laplace-transform-3-q11.png]


5)  Value of   
a) s ⁄ s2+22
b) a ⁄ a2+s4
c) 1
d) 1/5
6) Inverse Laplace transform of 1/(s+1) (s-1)(s+2)   is

a) –1⁄2 et + 1⁄6 e-t + 1⁄3 e2t
b) –1⁄2 e-t + 1⁄6 et + 1⁄3 e-2t
c) 1⁄2 e-t – 1⁄6 et – 1⁄3 e-2
d) –1⁄2 e-t + 1⁄6 e-t + 1⁄3 e-2

7)Inverse Laplace transform of 1/(s-1)2 (s+5) is

a)  1⁄6 e – t – 1⁄36 et + 1⁄36 e-5t
b)  1⁄6 et t – 1⁄36 et + 1⁄36 e-5t
c)  1⁄6 e-t t2 – 1⁄36 e-t + 1⁄36 e5t
d)  1⁄6 e-t t-1⁄36 e-t + 1⁄36 e5t


8) Inverse Laplace transform of      s⁄ (s2 + 4)2
a) 1⁄4   sin(2t) 
b) t2⁄ 4 sin(2t)
c) t⁄4 sin(2t)
d) t⁄4 sin(2t2)
9) If, then its Laplace transform is
[image: https://www.sanfoundry.com/wp-content/uploads/2017/07/engineering-mathematics-questions-answers-laplace-transform-properties2-q8.png]

10) Find the inverse lapace of    
a) 1⁄3 et [Cos(t) – Cos(2t)].
b) 1⁄3 e-t [Cos(t) + Cos(2t)].
c) 1⁄3 et [Cos(t) + Cos(2t)].
d) 1⁄3 e-t [Cos(t) – Cos(2t)].
11) Find the inverse lapalce transform of 1⁄s(s-1)(s2+1)
a) 1⁄2 e-t + 1⁄2 Sin(-t) – 1⁄2 Cos(-t)
b) 1⁄2 et + 1⁄2 Sin(t) – 1⁄2 Cos(t)
c) 1⁄2 et + 1⁄2 Sin(t) + 1⁄2 Cos(t)
d) 1⁄2 et – 1⁄2 Sin(t) – 1⁄2 Cos(t)





12) Solve using Laplace  Transform  y′′ − 6y′ + 5y= 0     y(0) = 1,  y′(0) = −3
a)  
b)  
c)  
d) 
13)  Using convolution theorem Inverse Laplace transform of                                    (s+ 1)2 / (s2+ 4s+8)2
Is given by 
a) 
b) 
c) 
d) 
14) Inverse Laplace transform of  
a) 
b) 
c) 
d) 
15)  Inverse Laplace transform of log 
a) 
b)
c) 
d) 
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